D" Slatted Body

~ ALL PARTS (IN RED) ARE SUPPLIED WITH FIXINGS FREE OF CHARGE
ANY QUERIES ABOUT THESE PARTS PHONE 01926 812494 OR FAX: 01926 815271

i

M WEAR PAD
20 PLAIN NUT HORT STAY 1598800
900775 L SHiaGheon 5 g G@
1 BOLTM12x32
900812
M20 PLAIN NUT @
900775 P,
902421
LONG STAY %

Sggg:%ERH : M16 PLAIN NUT € BOLT M12 x 37
903233 LH 900774 900815

A

REAR LANDSIDE
903240 RH 903238 RH

M.SLATLONG  M.SLAT SHORT % TRASHBOARD @
0

o/ 903246 RH 1137498 RH

903241 LH 903239 LH < 903247 LH 1137499 LH
miznut ®
BOTTOM SLAT TOPSLAT 902421
903242 RH == Lirebindl® FRONT LANDSIDE
903243 LH e | 1136700
EYE BOLT
NUT M20 1498100 M10 NYLOC NUT
900775 900782
—
e,
O M10 X 30 BOLT
FROG 903245
1141298 RH MUSHROOM BOLT ; N SHIN 10MM
1343898 RH (1998 ONWARD) & 901692 16049991H

1343899 LH (1998 ONWARD) 3/4" UNF 65MM CSK BOLT

900143

3/4" UNF NUT
PACKER
900111 BOLT 12 x 42
M12 NUT
902421 @ g 900811 E

KNIFE COULTER

BOLT M12 x 37
900815@

BOLT M12 x 32

% E 900812 EE

BOLT 12 x 42

900811 1144098 RH NIBBED POINT
SUBSOILER 1144099 LH 1176598 RH @ pp12 nuT
165098 RH ® 1176599 LH 902421
165099 LH ® ® TUNGSTEN TIPPED
M12 NUT WING 1353498 RH
potbibine 1161598 SHORT RH 1353499 LH

1161599 SHORT LH
1138398 LONG RH
ISSUE | - JULY 1999 1138399 LONG LH




